



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{2} + \frac{1}{5}\right)^2 + \frac{3}{2}\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) =$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} + 2^2 \times \frac{1}{3} =$$

$$\left(4 - \frac{3}{2}\right)^2 + \frac{1}{5} + \frac{1}{2} - 2^2 =$$

$$\left(\frac{1}{3} + \frac{2}{5}\right)^2 - \frac{1}{3}\left(\frac{1}{2} - \frac{1}{4}\right) =$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{2}{5}\right) \times \frac{1}{5} + \left(\frac{1}{5} + \frac{3}{4}\right)^2 =$$

$$\left(\left(\frac{1}{6}\right)^2 + \frac{3}{2}\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{3}{5}\right)^2 =$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{5}\right) \times \frac{3}{2} - \left(\frac{1}{2} - \frac{3}{5}\right)^2 =$$

$$\left(5 + \frac{3}{4}\right)^2 + \frac{3}{4} - 4^2 \times \frac{2}{3} =$$

$$\left(\frac{1}{2} - \frac{3}{4}\right)^2 + \frac{1}{3}\left(\frac{2}{5} + \left(\frac{1}{2}\right)^2\right) =$$

$$\left(\frac{1}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{4} - \frac{3}{4}\right)^2 =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(\frac{3}{2} + \frac{1}{5}\right)^2 + \frac{3}{2}\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) = \frac{2509}{600} = 4\frac{109}{600}$$

$$\left(5 - \frac{1}{3}\right)^2 + \frac{1}{2} + 2^2 \times \frac{1}{3} = \frac{425}{18} = 23\frac{11}{18}$$

$$\left(4 - \frac{3}{2}\right)^2 + \frac{1}{5} + \frac{1}{2} - 2^2 = \frac{59}{20} = 2\frac{19}{20}$$

$$\left(\frac{1}{3} + \frac{2}{5}\right)^2 - \frac{1}{3}\left(\frac{1}{2} - \frac{1}{4}\right) = \frac{409}{900}$$

$$\left(\left(\frac{3}{2}\right)^2 - \frac{2}{5}\right) \times \frac{1}{5} + \left(\frac{1}{5} + \frac{3}{4}\right)^2 = \frac{509}{400} = 1\frac{109}{400}$$

$$\left(\left(\frac{1}{6}\right)^2 + \frac{3}{2}\right) \times \frac{1}{2} + \left(\frac{3}{5} + \frac{3}{5}\right)^2 = \frac{3967}{1800} = 2\frac{367}{1800}$$

$$\left(\left(\frac{1}{3}\right)^2 + \frac{1}{5}\right) \times \frac{3}{2} - \left(\frac{1}{2} - \frac{3}{5}\right)^2 = \frac{137}{300}$$

$$\left(5 + \frac{3}{4}\right)^2 + \frac{3}{4} - 4^2 \times \frac{2}{3} = \frac{1111}{48} = 23\frac{7}{48}$$

$$\left(\frac{1}{2} - \frac{3}{4}\right)^2 + \frac{1}{3}\left(\frac{2}{5} + \left(\frac{1}{2}\right)^2\right) = \frac{67}{240}$$

$$\left(\frac{1}{5} + \left(\frac{1}{2}\right)^2\right) \times \frac{1}{6} - \left(\frac{1}{4} - \frac{3}{4}\right)^2 = \left(-\frac{7}{40}\right)$$